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Read the passage carefully and answer the
questions (from No. 21 to No. 25) that
follow choosing the correck alternatives
given - -12-
If we would see our dream nl(BﬂnLhd\dll Ra,
1.e., true democracy realized, {&& would regard
the humblest and lowest Indian as being the
ruler of India with the talles[gig8he land. This
presupposes that all are pur%ﬁwil] become
pure if they are not. And purity must go hand-
in-hand with wisdom.
No one would then hmhnur—ﬂny distinction
between community and coqyunity, caste
and out-caste Everybody “MI i regard all as
equal with uneselt and hold ﬁ;gm together in
I@nul of love. No one would regard
another as untouchable. W uld hold as
equal the toiling laboureY ™ind the rich
capitalist. Everybody would know how to
earn an honest living by the sweat of one’s
brow, and make no distinstion between
intellectual and physical Iahot
To hasten this consummaton, we would
voluntarily tum ourselves inuﬁ-‘s:avengers. No
one who has wisdom will ever touch opium,

liquor or any l'gt,o,x.mams body would
observe Swadeshi as the rule ¢ and regard

every woman, not bemg, his wife, _as his
mother. sister or daughter acu)rdmg to her
age, never/lusuiter her in his hgart. He would
be ready to lay down his lifebwhen occasion
demands it, never want to 1a@olher s life.
If he is a Sikh in terms of thegommandment
of the Gurus, he would hdve the heroic
courage to stand single-ha and alone--
without yielding an inch of d against the
"one lakh and a quarter”" enjomned by them.
Needless to say, such-a son of India will not
want to be told what his duty in the present

hour is -

A~SECTION-T| — g
ENGLISH (C ()MPULSORY FOR

1622 3 GET IT ON
Google Play

ALLSTREAMS) =~ |

21. This passage is abOUL .....crueuresseresemssnasacins.

(f}/[ﬁélxlocracy
— . -
(B) Panchayati Raj in Democracy

=~ gt e
(C) the ajrn of Panchayati Raj

/ —
/ . g ., .
[BXthe @@ponsibility of citizen
22. In Pﬁyali Raj, distinction between
different”™ communities and castes would

(A) harbeur
IS
(B) remowk
—~ O
\_(Q’f:‘in:(t'% the same
(D) None of these
In Panﬁﬁlti Raj, no women will be ...........
(A) rggarded equal
@A:o!csled
;o=
(SXabouer

\‘J
(D) integrtual
—

-',,,J

24. In para@) the antonym of .......ccccc..... is
’unwil%’.
(A) int nts

(B) consummation

25. When gasion demands, everybody would
De TRl

(A) takﬁther’s life

My down their lives
(C) dominate over weaker

(D) command over their weaker
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Read the following poem carefully and 26. What will again expand to a tree’s full size?
answer the questions (frf)m No. 26 to if)/m“ts
\ No. 30) that follow choosing the correct
| alternatives given - B (B) gregn twigs
|| It lakeslmuch_lime F_E'!(ili a tree, ©) [mﬁ
|| Not a simple jab ofdhe knife o
Will do it. Tt has grgyn (D) fgyyers
Slowly cnnsuminﬁanh.
F 2 7 " afn ol 9
Rising out of it, febRlR 27. W hﬁe].md to the death of the roots®
Upon its crust, absorbing (A) Pulling out

Years of sunlight, air, water,

And out of its leprous hide (B) Scorching

Sprouting leaves. _, (C) Choking
50 hack and chop — - .
—— n DY AllXhe above
But this alone won(t_-’iln it. . o {Ej O
Not so much pain v@ll do it. 28. Chok{@ is done in the absence of .........
The bleeding barkpygitt heal
om close TR
And from close tofhe®round . v
Will rise curled green twigs, (BYair
Miniature boughs
TN : . (C) water
Which if unchecked will expand again
To_ former size. K (D) hu:@ghl

No, - 29
The root is to be pubed out -
Out of the anchoring earth; {871t Wals soon.

Itis to be roped, tiﬁ (B) lﬁls after a long time.
And pulled out - snapped out
Or pulled out entirely, (C) It never heals.
Out from the earth-cave,

And the strength of 4He tree exposed -

The source, white angywet, 30. What I%es the poet symbolise a tree in the
The most sensitive,ﬁﬂden N

r -‘-\l . -
- Whatdwmppens to a tree’s bleeding bark?
-

(D) It destroys the tree completely.

poem#
For years inside the@arth. M
A
Then the matter ﬁ K%Ie thought
Of scorching and choking (B) A deep-rooted evil
In sun and air, . ¥
Browning, hardening, (€) A long tradition
TWiSting, withering, . (D) A good Kbt
And then it is done.
OSSTET/P-I Page 6 of 72 SETD]
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31. When did he return the book to the library?
The passive of the sentence is -
(A) When had the book returned to the

library?
(\%en was the book ﬁtumed to the
library? ~J
on
(C) When had the book beemreturned to the
library?

(D) When has the book bﬁeturned to the
library?

32. The rising tone is used for ...........cocvrvieeen. ;
(A) Statements
(B) Wh-questions
(\gféommands
(D) Requests

33. Which letter 1is silerﬁn ‘isle’ in
pronunciation?
(A) i
(B) s

(€)1
e

34. My father-................. thiaouse 30 years
ago. '

(A) bought ﬁ
(B) has bought
L@Zd bought

(D) has been bought .
—

OLG.LYl

Sivl

35. The poet compared her fa% the

moon. ﬂ
(A vith »
(B) in

(C) on E

(0) to

GET IT ON
Google Play

36. 1 will follow her in order to impress her. The

underlined clause 1s an advcrbtal clause of ...

l}}/l;ea son

(B) result
£

(C) pua:\iose

(D) cqqgrast

37. Whigh=is the correct pronunciation of the
\»'nr(iu.r‘%me”.’
W ;’saenz’
(B) /55 h/
() /sep/
(0) /sEh
38. Rngﬁgcstcd 3TV B S
M‘a?she should cook dinner for him
(B) to cook dinner for him
(C) can cook dinner for him
. 3

(D) muat cook dinner for him
~J

39. Neilh&he old man nor his sons ................ :

prcparoezl to sell their old house.

40. The t@l‘ ...................... a lot of money.
n
(A) galon with

2
(B) got'in with
©r ﬁiong with

(D) got away with
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CE Scanned with OKEN Scanner


https://applink.adda247.com/d/XhqWf9lSap

GET IT ON
Google Play

AddaR47)

B — SECTION — III
i ARTS GROUP — ODIA (OPTIONAL)

41.

OSSTET/P-1

JoR Ag6ee Q10 92 94 (41) @ 9. Q2 |

AqEIa RIRRT! 9ed E@EEgEN CaFa
& 2 =

AN] ¢Ig | 9T SOTER A9 AAGER AAIQ
.\j

Q96R Q60 9T | ABG Qg QIFETR
(o))

A998 98 69 AORC 62IRACH AT |

YAREHUCA G007 FUI'B Aela-Fqasiea

06RA 2T G AGPIQ KAIGAT 69
< — — ‘h

A RIS OF8 G121 AR g dIR 621N

Q2 | 92 I9FHR egae | vl aF

AFISR0I6Q AR ﬂa!ﬁ A3 919 6R6m

66lIgN @F- goIg 9909 QuId ad2Is! | 2Iga

6R6Q @Al 3949 986 99, 6191 9@ 6 10

42. 6Q@ QEGIT 0F6Q Q12 @
QAR GFl G6w
AR AeRe atiea ad
~J o=
1 QLEER QIR Q6R
4TBQ 609 86Q AF0 ?
(%"ﬂwm
13
B)oaaig
N/

(C)

‘l:l“'—.t, g'al
(D) ‘T—:;i.,;'r‘r'.,:
@y
43. ‘9@ @ AFAQ A/ F6RQ Q4 69
( 1+ O
(B) @q + 0
& ag + 2

B) g + &

—
) T D o
QAR QIR @ﬂwdﬁ g-aRIc @68 | % 43‘1 hlI @QZIES 64 MLIQ IQ A96Q GRIE
(&)

6899 ,6@68I9, 6AIAQ FFgIEwi68 A9y Gn
R @ 98 ARE RER| 59 @ CaITId
2ERQAEA G108 AN 498 PIRIF]

QAAYFOIER AIR FFQLLYER K6 621R2IR ?

5N
(A) a9eQ 2SS 2I2IB! o

/ —
%ax@m eAgeIe eadd <ud adais

(©) ari gaioa §1-ali e

(D) @ 6 10 6QIAIR 98 2SI

QERLWE 699 ?
}

w 2086
(J:Em%,i_ri}w
(€) Qegea
@)ﬁwm
45. R6HD SRAIRG FKIQ 6RUT ga?
@.\@@qeﬁ
(ﬁq
"

(C} ?_[ﬁ\‘q\g.l

©) Aigien

P Page 8 of 72

—

_‘

[SET-D)

>

(¥ Scanned with OKEN Scanner


https://applink.adda247.com/d/XhqWf9lSap

" 21 666 QIR ?

G@§a s a
AQE 1@ 99Q 696 907
. Weqrze >

‘J':‘Z:”m"ﬁlﬂ Yo TR ﬁ
+ 2ié 2

‘622 Al 42 8 69d 22 gemagRa”

S2.

53.

. g9 6Rdl 601 ARG ARl AIT | 6RNITE Ad

| ?-_‘ ' GET ITON

Google Play | !

6R6QQ 2

() Sy
@Zﬂ‘&@

1 (C) qég,a;

(D) @Haﬁ
HIRELR %u 00 9326 | 6asIEe aof 6ael
QR ?
) cadH
®ed
(©) zaiQm
1S
() agaigd
Q6A4, O 2IQ | CANIES A96a 64 I

(¥ Scanned with OKEN Scanner


https://applink.adda247.com/d/XhqWf9lSap

Adda24

baby, she started to cry.

—

"N
(A) to ~J

($)]
(B) on Ef)
(C) with Eﬁ

J}Vai

S7. The regular practice ol‘Note-@king helps our

~
learners to develop their - ()3
—_—

(A} Listening and Speaking @2
(B) Listening and Reading EE_:E
Meadimg and Writing

(D) Speaking and Writing

58. The patient before lh.%f.[octor arrived.

(A) died
(B) has died

yﬁd died

(D) has been died

12

—
.
59. The word, ‘beautiful’ is a a«_l.l word
] —
(A) monosyllabic o))
(B) disyllabic ﬁ
\(ﬂ polysyllabic
(D) bisyllabic
OSSTET/P-I
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60. Ra;lb said to his sister, “Do you like apples?”

The ‘Indircct Speech’ of this sentence is -

(A) Ra_j-r%gaicl to his sister if she liked apples.
L

(B) Ra_%sairl to his sister if she likes apples

r/yl@ﬁ‘k‘*d his sister if she liked apples.

(D) Rajib asked to his sister if you liked
apples.
S

61. The nc&\_iaridge ............ five months ago.
—
(A) opedRd
M&)ﬁened

(C) has been opened

(D) had been opened

62. Traditj@l[ Grammar is based on -

(&@mes
——

(@) V.
(B) rules and definitions

(C) ruﬁeﬁnitions and structures

(D) communicative use of language

63. Readinga non-det

-]
skills ot}ﬁ

ailed text develops the

(A) Inle?ne Reading

@/Aﬁw Reading

(€) Close Reading

(D) Critical Reading

[SET-D]|
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64. The teacher gives focus on ‘Collection of

Ideas’ as a step for developing learners’

skill,

@/Listening

(B) Speaking

(C) Reading

oLG.lvL

e

(D) Writing

Read the following passage carefully and
—

answer the questions frpmm (No. 65 (o
~]

No. 67) that follow cho@g the correct

(&)}
alternatives given —

Old age is the perioﬁuman life that
is feared by all sensible persons. Physically it

1s that period in which huma:l_‘l.aeings get weak
and dependent on their ]b«simlly dears.
Various diseases come to tﬂn and they are
not active as they were whe?;oung. Because
of being a kind of physﬁand financial
burden on their children, they start getting
neglected. Not only that, lhgr feel discarded
from their own blood. This i%e stage in their
lives which is the most fead. Many cruel

children, especially sonﬁat their old

parents as a burden. It is sad that they think of

sending them to old age homes. But it is no

remedy. The aged think it is better to be dead.

GET IT ON
Google Play

Old age homes are not a solution byt

ifi such a situation they bring some ray of hope
— 2

S
to 1he(1TrJn At least in old age homes, they meet

-

otherOMh similar circumstances. On getting
mgetLer‘they get some respite from their man-
=, ———

made problems. But what is needed are a few

e
W ordsﬁif love and affections from their own

()]
and -;an]c bit of care. They are never a
hurd«ﬁ'he youngér generation must think
that they too will be old one day. And
secom‘i&, they are ;here because of their

-._‘J

p'd['ansU:[l i1s a phase of life that comes sooner.

. The [ﬁe, at their old age, are neglected by

their children because they become

(A) phﬁical burden on their children
gy

eyl : <
(B) finamcial burdén on their children

o)
Mysical and financial burden on their

children

(D) old, helpless and sick and annoyed attitude

~ OSSTETA

Page 11 of 72
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66.

67.

OSSTET/P-I

The old people get relief in old age homes -

(A) by meeting other old and young people.

%meeling other old people with similar

problems. —

- . -h
(C) by talking with other olrf}ileop]e and eating
: g

nice food. —h

&)

(D) by staying comfonablﬁd eating tasty
food.

Which word, in the passage, means thrown

out?
1scarded

(B) generation

@{és pite

(D) burden

ﬁ] oLG.vi

Read the poem carefully and answer the
questions from (No. 68 to No. 70) that

—
follow choosing the corgsct alternatives
~J

given - iy

—

Doageigre. | o
Belinda lived in a little w hﬁ;usc,
With a little black kitten" 8 a litle grey
mouse,
and a little yellow dog and a little red wagon,
And zbgga_llo, trulio, ll{tle p%ﬁragon.
Custard the dragon had bigGHarp teeth,
e <A
And spikes on top of‘qam and scales
underneath, ﬁ

Mouth like a fireplace, chimney for a nose,

And realio, trulio, daggers on his toes.

GET IT ON W
Google Play

68. The name of Belinda’s dragon is -

(A) Red Wagon
h
N

(B) Pet-Dragon
&)

—A

(@)
(C) Custard

| g
_(9”5?0

—

69. The posth is about
n

pa—
o)
(A) Belinda

ﬁa\ pets

—

(C) Beltnda’s mouse
~J
n

—
(B) Dr&gdn and Wagon

70. Whicﬁrd in the poem means - Sharp nails?

(A) wagon
—
BN
~l

(B) spifﬁk

iw)%rs

")

(D) trulio

Page 12
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71. Who among the following canstitute the
National Development Councilﬁ

n
(1 The Prime Minister ——

The Chairman, Fmanc;;%mmission
(3) Ministers of the Union"Gabinet
(4) Chief Ministers of the States

Select the correct answer using the code given

below -

Ml, 2 and 3 only
(B) 1, 3 and 4 only
(C) 2 and 4 only
(D) 1,2,3and 4

=] 9LG.vl

72. Which of the following is not correctly
matched? =

. : &
(A) Russian Revolution - Romanayv Dynasty
(&)

y/F irst World War - Arcl1dukco-§ranz

Ferdinaﬁl
(C) Second World War - Adolf Hitler

(D) United Nations Organization - Panchsheel
: Agreement
73. Which of the following Commissions was

N
with ~C(pentre-States

constituted to deal
relations in India? ==
(8))

(A) Sarkaria Commission

(B) Kaka Kalelkar Commissio
(CyMandal Commission

(D) Kothari Commission

[

B —SECTION - 111
ARTS GROUP - HISTORY & POL]TICAL SCIENCE (OPTIONAL)

74.

76.

77,

_}M/D;mﬁ

GET IT ON

Google Play

Which of.the following was not one of the

chief charaéteristics of the architecture of
Akbar’s %od?

(A) Extegsive use of red sandstone

(B) ]ncre@ use of marble

(}}*Usc of Pietra dura

(D) Placing of tombs in garden-setting

. The pmvmﬁ:f the Supreme Court of India to

decide di@lcs between the Centre and the
States fallggndcr its -
(A) Advi Jurisdiction
(B) App{.ﬁ Jurisdiction
(C) Original Jurisdiction
(D) Writ Jumsdiction
=
Which 0'3‘*“ following is Not one of the
cdicls.finsc(_g"-plions issued by Asoka?
ra Pillar Inscription
(B) Bhabru Edict
(C) Kalinga Edict
(D) Junagarh Rock Inscription
The reign gwhlch of the following Sultans is
said to m& the highest point of territorial
ex[’meSiO“ax'fthe Delhi Sultanate?
(A) Alau ilji
(B) Mohﬁbmﬂughlaq
(C) Firoz Tughlaq
(D¥Sikandar Lodi
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78.

79.

80.

81.

OSSTET/P-|

Which of the following Indian rulers was first
to sign the Treaty of Subsidiary Alliance of
Lord Wellesley?

(A) Ruler of Mysore
LB{ Nizam of Hyderabad

(C) Nawab of Awadh

73] 9LgLL

(D) Ruler of Tanjore

The Right to Property, which was originally a
Fundamental Right, was abolished by which
Constitutional Amendment?
(A) 40" Amendment
(BY 42 Amendment
(C) 44™ Amendment

(D) 46" Amendment

] 9LGLvl

Which of the following Articles deals with the
procedure of the Amendment of the Indian
Constitution?

(A) Article - 168
(B) Article - 268

.(%rlicle - 368

(D) Article - 370

B olsivl

Which of the following is not matched

. 2 i
correctly”? g
Mahatma Gandhi - Hind Swﬂj
(B) B'R. Ambedkar - Annihilatifflof Caste
; 0‘) b
(C) Raja Ram Mohan Roy - A Gift to the
- ﬁolheists
(D) Bal Gangadhar Tilak - India Wins

Freedom

R,

GET ITON
Google Play

82. Nitisara, a work on polity addressed to the

83.

84..

85,

1 ' i hi s 1 0
king is credited to which of the following’

(A) [’alanjﬁ

g =]

(B) Paninicn

s —

(’(y/Kauliig)
(D) Kam:ﬁka

Which of the following literary works was not
composed by Harshavardhana?
(A) Ratnavali

——

N
(B) Naganaagla
. N
Wﬁyadﬁhika

(D) Kadaﬁi

The practice of “Judicial review” in the Indian

Constitution was borrowed from which of the
—

following 7.
~l

(A) Austra@a Constitution

(BYfrench Constitution
(€) Canadfh Constitution
(D) American Constitution

The Nalio@\l Integration Council was - first

constituted-y the year -
o
(A) 1951 —
' &

(B) 1961 12

(&) 1971

(D) 1981

T Y P s v e

s
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86.

87.

88.

89.

S
b s ; ~ :
e Captain of a ship recordéth the time as
. N
7.00 hours GMT when the s§®was exactly
overhead. Where was the shiﬁioned'?

(A} Pakistan

(B) India

(C) Sri Lanka
(D) Bangladesh
Select the odd pair from the follqwing -
(A) Yamuna - Chambal
(B) Godavari - Sileru
(C) Mahanadi - Tel
(B¥Kaveri - Koyna

Which of the following currents can be

5] 9lG/¥

distinguished from the others three on the
basis of its direction of movement?

(A) Humboldt Current
(B) Benguela Current
(CY'West Australian Current

(D) Falkland Current

= o16/pL

When a convex slope 1s shown with the help

of contours how will the contours be drawn?

(A) Close spaced at the top anavide apart at
the bottom U"

(B) Wide apart at both at thmc)p and the

* bottom ﬁ

) Contours will be wide apart at the t__f)p and

GET IT ON
Google Play

B - SECTION — 11
_____ ARTS GROUP GEOGRAPHY & ECONOMICS.(OPTIONAL)

4_5
90. Write u.t_anoiogu.:llly the following stages of

pressure ﬁmdltlons from low to high order -

(1) ﬁesslon
(i1) &ere Cyclone

(i)  Super Cyclone
(iv)  Deep Depression

(A (), (i), (iid), (iv)
ﬁ(i) (ii), (iv), (i)
(C) (i), (iRd; (i), (iii)
(D) (i), (@) (i), (iv)

—
91. Which ogpof the following is a second order

land fo%
(A) Laks ‘:.zidweep

y)' Aravalli

(C) Chilika
(D) Barehipani
N
92. Lack oigmploymeut in spite of having

educationa}) qualifications do come under

which rﬁf unemployment?
(A) Sea

(B} Disguised
(C) Technglogical

(D) Instirﬁpnal

93. Which oﬂhe following state is having the

highest l-%.l"
() Ker [

(B) Karnataka

closer at the bottom (9{ Maharashtra
(D) Closely spaced both at the top and bottom (D) Jharkhand
OSSTET/P-1 Page 15 of 72 [SET-D]
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4. What is the basis of determining the poverty
line?

(A) Monthly income of a perS’_Eiu

j;){klonthly expenditure of a&rson
(

—_—
The difference between monthly income
and expenditure of a per
(D) Monthly savings of a person

9S. Which industry is similarly related to Ranipet

as is cement industry to Porbandar?
(A) Cotton Textile
(B) Wollen Textile

—

(%hemical Fertiliser "{ll
(D) Paper Mill ‘22
Which of the following Balﬁ) does regulate

the currency transaction at

96.

hike in the country?
(A) State Bank of India

@Méserve Bank of India

(C) Indian Bank E

(D) Overseas Bank a'-l.
97.

—
Arrange the prominent Hifimlayan peaks

according to their altitud@ ascending
order -

(A) Mt. Everest, Kanchenjunga, Nanda Devi,

hauladhar —
3%
Dhauladhar, Nanda Devi;*olfllanchenjunga,

Mt. Everest 6;
(C) Dhauladhar, Mt. Everes%anchenjunga,
Nanda Devi

Nanda Devi, Dhauladhar, Kanchenjunga
Mt. Everest

@time of price

GET IT ON
Google Play
98. Which of the following states in India hag

. ili ~i1lat oreyuct
shown a stabilised trend of population growt)
o

duringé]iOl -20117
—
(A) God™
=
Mg?ﬁnd
(C) Kerala

(D) Punjab

99. Cherrapunji and Shillong though situated
—

closely=agth each other. Cherrapunji receives
O

very hiaramfall than that of Shillong, why?

(A) Scﬁ forests around Shillong

(B) Higher altitude of Shillong

(C)Situation of Shillong on the leeward side

-3

of Sﬂlong Plateau

o
(D) Scaggf rainfall by S.W. Monsoon

100. Whic sphere Reserve’ in India was the

first to be. enlisted within the “World Network
of Biosphere Reserves” by UNESCO?
(A) Thegm‘ofMannar

~J
(B) The‘ﬂanda Devi

(@)
(C h%ndarbuns

(D) The Nilgiris

OSSTET/P-I
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41.

42,

43.

B - SECTION — 11J
SCIENCE (PCM) PHYSICS

Ana~ cvoltage source E = 200@@1]001 is
connected across a circuit con_tain@ a~c
ammeter and a capacitor of capacitﬁ;lF. The

reading of ammeter is -
(A) 10 mA
(B) 80 mA
(C) 40 mA
(D) 20 mA
A metal wire of radius ‘r’, iengtllA ‘I’ and

Poisson’s ratio ‘c’ elongates by @lging a

load on it. The fractional change in %_@ume of

'

SIAV: ;a0
the wire 'T will be -

o)
(A) (f‘T')3 NeEwr i
(B) # (1+ 20)

(© 70~ 20)

@ [*(1+20)

91G.vl

44.

45.

46.

GET IT ON
Google Play

e e

A bat is appro@hing a stationary prey at Sm/s
when the windl is blowing in the same
direction at 2m¥s. If the bat sends ultrasonic
waves at 32 KHz and the speed of sound is
325 m/s, whﬁparent frequency is heard by
the bat? 4
(A) 31750 Hz
(B) 31710 Hz
(C) 32300 Hz

(D) 32700 Hz
A vessel of dﬁh 10cm has its one half filled
with a liquid@ refractive index 1.2 and the
other half ﬁl@ with a liquid of refractive
index 1.5. Thergpparent depth of the vessel
when seen ij’gﬁ
(A) 7.5 cm
(B) 6.5 cm
(C) 83 cm

y =
D)73cm N

e —

e

bove is -

~
The potential @erence between the points P

and Q in the gi¥en electric circuit below is -

A geostationary satellite 1s orbitinﬁ Earth 20
at a height 6R above the surface o Earth, Q
where R is the radius of the Earth. The time 8%/ gm
period of another satellite revolving,around ;Li §
Earth at a height 2.5R from Eanhﬁpurface ~J
(6] ; CIWW
IS - — R ==2() MZKA;
i (0)) ; (0))
(A)12V2 hr E (A)zV
(B) 12 hr (B)2V |ﬁ§
(C) 632 hr (c)‘-;- Vv
(D) 6 hr (D) Zero
OSSTET/P-1 Page 17 of 72 [SET-D]
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47. A coil of 10cm x 10cm having 50 turns js
rotating in a magnetic ficld with an angylar
speed of 314 per second in a magngtlc field of
induction 2 tesla. The peak valtfei"bf induced
emf will be - CD
(A) 110 volt E@

(B) 220 volt
(€) 314 volt
(D) 628 volt

48. Frictional forces as observed on tﬁb surface of
the Earth, when two bodies ar(e'ﬁin relative
motion, belong to which basic ib?(zq observed

in nature? !:

(A) The gravitational force

(B) The weak force

(C) The strong force

LGV

(D) The electromagnetic force

49. A parallel beam of monochrom#fc light of
wavelength 5000A° is incident ﬁmlly ona

- |

GET ITON
Google Play

50. A person observed the acceleration due ¢,
gravity ‘g’ at a height of *h’ above the surfac,

—
of the Eanﬁsame as he observes it at a dep},

Oy
‘X’ below 8[% surface of the Earth. If ‘h’ apq

‘X’ are n@maller than the Earth’s radiug,

the relation between ‘x” and ‘h’ will be -

(A)x=h
(B) x =2h
h
C)x=:
n
p—
D) x=h*»

S1. The variﬁ of electric potential due to 2

System of charges with distance ‘x’ from a

fixed point is shown below -

>
Potential in V volts

I
I
I
1
I
I
I
1
I
L

1
1
1
.
S

oo Bl e ey

single narrow slit of width 0,001 mm. The 0 e F -
- Distance xin meter
light is focussed by a convex lenﬁn a screen K
The electricield at x = 5m s -

placed on the focal plane. The ﬁg minimum (&)

—t
will be formed for what angle of @iffraction? (A) -zs—volts@
.
a0 ﬁ (B) = vo
(B) 15° :
@ (€) —2.5 volts/m

30°
(D) 60° (D) 2.5 volts/m
OSSTET/P-I Page 18 of 72 [SET-D]
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52. Four waves (1), (2), (3) and (4) given as -
y1 =30 sin(200rt) - (1)
y2 = 30 sin(202xt) — (2)

y3 = 30 cos(200nt) — (3)

gLG.lvi

Y4 = 40 sin(200nt) — (4)
are emitted by four different sﬁs S1, 82, 83
and S respectively. Which of the two sources
could produce interference phenomena in
space under appropriate conditions by the

superposition of waves?

(A) S; and S

916/¥1

(B) S; and S

(C) Sy and S E

(D) S;and S,

53. A thin circular disk of mass ‘M’ and radius
.
‘R’ is rotating about its axis pe@ndicular to

the plane of the disc passing lhrcu('gh its center
(0]

with a constant angular velu%‘m'. Two
objects each of mass ‘m’ are ed gently
to the opposite ends of a diameter of the disc.

The ring will now rotate with an angular

54.

a8s.

GET IT ON

Google Play

Two liquids that do not react with one another

and are miscible have densities 1000 kg/m’
.

and 1500 ﬁ%’m? If equal masses of each are

on ; _
mixed, theﬁi;ensiry of the mixture will be -

(A) 1250@1‘

(B) 1200 kg/m*
(C) 1400 kg/m’

(D) 1450 kg/m®

A slab of-ﬁl-oppcr of thickness b is inserted In
wn :

between the-plates of parallel plate capacitor
(O}

as shown below.

-
s

A=Area

) i)

> DS
) \
] I

(ﬂ

The separg?on between the plates is d. If

b=;, then the ratio of capacities of the

capacitor after and before inserting the slab

; - will be - =
velocity - D ﬁ
3 ~J
w(M-2m) (&) (A) V2 1
(A)‘_‘M— — 6;
(@)}
(B) oM _ (B) 24 EE
M+2m
M2 E € 1:1
(€)=
+2m
| ©1:y3
(D) w(M+2m)
M
OSSTET/P-1 Page 19 of 72 [SET-D]
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56. Two electric bulbs rated 60W, 200V and

57.

100W, 200V are connected in series to a

supply of 200V. Which of the following

; .
statement is correct? ~J

n
(A) 100 W bulb will glow bn'%}er.

(B) 60 W bulb will glow bri%,
(C) Both 60 W and 100 W bu '.'\\-il[ g|0“- with

same brightness,
(D) 60 W bulb will not glow at all.
A wire of lcnlgth ‘1" loaded by_'g]alock of mass
'm’, density ‘p’ is vibrating \341
‘n’. What will be the frequc.ﬁa’ of vibration

‘n"’, if the block is \\'hOHﬁIHCI‘bUd In a
liquid of density & ?

a frequency

39.

GET ITON
Google Play

An iron ball of mass ‘m’ takes'time ‘t’ to reach

the floor of a stationary lift when droppeg
—X

from a héght *h’. It takes time ‘t" to reach the
~JI

floor when the lift is moving up with ,
(0))

(.‘Gnslaﬁcelemlion ‘a’ and the mass ig

dropped from the same height, then -

(A) >t
p—

(B) 1 - 'Y
o

(C)t <t
(@))

(D)l--EEiEt

|

60. Two charges -qi and +qu, having masses m;
(A)n’ =n ,1 +2
p § and my_gespectively moving with equal
o _
b a ~J ; i
(B)n' =n ’1 = O mumcntB# enter a uniform magnetic field ‘B’
: : — - \ :
s D (0)) normal @Xhe lines-of force. If their radii of
‘1 $= ﬁ [
curvat [ circular paths are r; and
(D) n' = —— -
1-2 respectively, thep -
58. Two raindrops are observed to hit the ground (A) a2
rs 1
with speeds 6 cm/s and 1.5 cru/s respectively. -
: S o B~ =2
The ratio of their radii will el O™
(&)
A)2:1 o o 2
| (C) == =i==
B)1:2 Eﬁ "
(C)8:1 y  [my
(D) 1:8
| OSSTET/P-I Page 20 of 72 [SET-D]
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61. The momentum of a particle with a de-Broglie 64. The types of bond present in CuS04. SH>0 are
wavelength of 0.1 nmis-  _ only- |
L ~
(A)331 x 10 kg.m.s™! a (A) electrelalent and covalent
: o
—
(B) 6.62 x 10 kg.m.s"! ()} (B) elec@alem and co-ordinate covalent
- d co-ordinate
, (€) 6.62 x 1022 kg.m.s~! ﬁ (©) eleﬁlent, covalent an
covalgm
(D) 6.62 x 102 kg.m.s™
| (D) covalent and co-ordinate covalent
62. 3.5¢ of copper was dissoh&d N excess -
~J 65. The l'ol[%*ing reaction describes the rusting
concentrated Nitric acid and thg solution was o
— of iron —

evaporated to dryness. The c&per nitrate so
4Fe + 30, — 4Fe’* + 60>
formed was ignited to iﬁmlc which

Which tFtife following statement is incorrect?
weighed 4.4g. Then the equivalent mass of

(A) This is an example of redox reaction.
copper in gms 1s -

T~ (B) Metattlc iron is reduced to Fe**.

(A) 15.05 =) ﬂ%

(&) (C) Fe’ dsmn oxidising agent.
(B) 62.2 = - ‘

=l (D) Metafll iron is a reducing agent.
(C)31.1

Eg 66. 25.2 mﬁilute sulphuric acid is completely
(D) 15.55

neutralised by 24.0 ml of 0.105 M NaOH

63. For which of the following reactions the value :
et & Sy solution. The mass of sulphuric acid present

—
i 9

Rigsn L pvaterthan Res ﬁ per litre &the solution is -
(6)] ' i

(A) N + 0y = 2NO o

‘ ™ (A) 0.495;

(B) 2802 + O2 = 25803 ﬁ (B) 4'9‘1

(C) 2NO; = N20O4 ST (C) 49¢

(D) PCls = PCL; + Clz (D) 9.8¢
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67. Nitrogen is having three unpaired electrons, 71. The pH of solution containing 0.4 gm NaQy
according to - per litre is -
(A) Hund’s rul
und’s rule Jix (A) 2.0,
(B) Aufbau principle fi - IZ‘%
: A= (@) d
(C) Heisenberg’s principle — ek
o (C) 108
(D) None of these rg Eﬁ
2 S (D) |
68. Addition of a molecule of'%Br tobut- | - ene 3,
in the presence of peroxide gives - 72. The electronegativity of the following
(A) n - Butane elements increases in the order -
—t —
(B) 1 - Bromobutane N (A) C.N, Si, P
o ~l
(C) 2. Bromobutane E:r_;' (B) Nf_@ij C.P
. o o
D .
D) 1,2 Dibromobutane :’E (C) Sk B, C. N
69. The [UPAC &7 ;
name of follo 1n§ compound (D) P, Si. N. C
OHC—'CHZCH'—CH'-CH=CH2 '
| 73. Which of the following is the most stable
e K radica%
: ™~ « <
(A)4-butyl -2, 5 - hexadidi™ | - a| (A) Chigy
. —
(B) 5 - vinyloct - 3 -en - 1 S (9)]
T (B) )
(€) 5 - vinyloct-5 - en - SEE ¢
(D) 3 - Butyl - 1, 4 - hexadien - § - a ©)R,CH
70. i : .
How many o (Sigma) and T (P1) bonds are (D) R 3c
there in tetracyanoethyfne C2(CN)4] R
%IP [ 74. C.Oppea’s extracted from -
molecule? et il
o (A) Cupite
(A) Five o and nine 7 bon
_ (B) Chifer glance
(B) Nine o and nine & bonds
i (C) Malachite
(C) Six o and eight & bonds
(D) C it
(D) Nine o and seven 1 bonds SEPeEpyIite
OSSTET/P-I Page 22 of 72
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75. The gas X, diffuses twice as fast as another
gas Y, which in turn diffuses thrice as fast as
another gas Z. If molecular mass of the gas Z

1s 144u, the molecular maﬁﬁof gas X in ‘o’

, ~J
1S - )
(A) 8 B3
(B) 16 %ﬁ
(C) 2
(D) 4 =
~l
76. Isomerization in alkane maﬂbe brought about
. @)
by using -
(A) ALO; ﬁ
(B) Fey0

(C) AICI; and HCI

(D) Cone.H2S04

GLVL

GET IT ON
Google Play

78. The correct order of metallic character of the

19,

elements B, A{, Mg and K -

(A) BxAl>Mg>K

o

~J
(B) A3 Mg > B>K
(@)

(C) M AL>K >B
3

1

(D) K>Mg > Al>B

The grocess in which metal oxide is reduced
=~

U
to met.;] is called -
(0]
(A) Fting
(B) Aluminothermy
(C) Hydrothermy

(D) Ngspeciﬁc name
~

77. Equal weights of methan¢and oxygen are 80. One E%e of Hydrogen at NTP weighs 0.09g.
mixed in an empty container at 25°C. The IOOE];.Lef another gas at NTP weighs 0.0765g.
fraction of total pressure ﬁted by oxygen The ﬁour density and the relative molecular
I5- mass of the gas are respectively -

*3 2 (M) 425,85
(B); o (B) 831 17.0
— —
()2 < (© 170, 34.0
D) % % %Z% E (D) Nonie of these
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B -SECTION —1II
SCIM_@_ MATHEMATICS

ﬁﬁ__J

81. The tangent to the curve y = o2
Yy = €7 at the ;
point (0, 1) meets X — axis at........... . What e of Faxes
(A) (0,2) (Alg.
(B) (2 IS
(_,10) a (BM
©(30) et ox
(D) None of these 2 (D?lb
82. Quartile deviation is aE‘-iEmmately equal to - ﬁ
(A)EU 87. WHat'is the value of cot [cos*l (i)] ?
3 25 %
B = —_—
( )50 i (A) 24
2 25
(C)-o BN
o 5 ¥
1 - ‘C?%
o)
83. The equatlon to [he Chord Of thl. circle (D one Of[hese
+
TS y* = 9 whose mﬁ point is (1, - 2) 88. IH’(AnB) -, P(AnB) =1 p(m =P
[A) a2 2 :-9' """ i) P(B) = 2P, then thc value of P is given by -
(B))(—Zy__4=0 (A)g
(C)x—2y_5= -
(D) ! — (B)*w
X=2y+5=0 g (cr=
w5132
84, IfA = [3 1] , then theSAlue of A~ is - (nﬂ‘
(A [l =21 o) 89 495 62 63 64
i mifs -t | 0 4% s divisible
: X b
L5 s ﬁ .............................
g A AP
= (
(D) [1 2] : = (D;EE;
3 g ~
85. If R is a relation on alfinite set having ‘n’ 9(). Thﬂiagonal of a rectangle is V41 cm and its
elements, then the num& of relations on A ardls 20 sq.cm. What is the perimeter of the
s - rectangle?
a2 FR (ﬁgm
(B) pn? (B) 18 cm
(C) n? (C) 20 cm
(D) p° (D) 41 cm
OSSTET/P-I Page 24 of 72
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91. A sector of 56° has an area of 17.6 cm®. What 96. The third term of a G.P. is 4. What is the
iS ilS radius? produc[ of 1‘“ ﬁ\!e teITnS?
(A) 1.5 cm (A) 43
(B) 3 cm (B) 45
(C) 42 cm (C) 4
N
(P) 6 cm ' ﬁ (D) Nonaﬁijfthese
92. The order of the quotient grouyg x Zo x Zig 97.fA=(,3,5759 SIS ES N
Gl 9.0 5t N i = B= {2 40)......, 18} and N is the universal
(A) 18 set, lhethqvaluc of A’U((AUB)NB)is-
(B) 36 ﬁ (A) A £ '
(C) 72 (B) N
(D) 144 P (C) B E
93. What is the number of bijectivﬂunction from (B) None&f these
set A to itself, when A conlainﬂ% elements? 98. What is Evuluc of lim (L‘.‘)x 0
(@) b n — oo \x+1
(A) 106
(B) : (A) 0 [
106 £
[ E'i{:[ (B) ¢!
(C) (106)!
(C) ¢?
(D) 219
£ (D) ¢-?
94 - - : m_, 55 ik
* What is the sum of the series E ol 99. Whatis thps{]vaer of ‘l—tanzlsq 9
n_q 1. O 1+tan?15
(A) ¢ g (A) 1 a
(B) ¢! 2 (8)v3
(C) 2e E:iil A ﬁ
2
D i - oo
(D) None of ti?csc (D) 2
8. i | t ! . ,
A diagonal of the rectangle formed by the 100, What “isssthe ecsenthicisls /6f e donio
linesxz—7x+620andy3§4y+40:{) X2 — 4x 2=-129
T ~l a O
18 3
(._J_;l (A)-Z— a
(A) 5x + 6y =0 P -
(B) Sx— 6y =0 LG Eﬁ
(C) 6x— Sy +14=0 FE (B3 =
(D) 6x — Sy - 14=0 (D) None of these
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45.
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The momentum of a particle with a de-Broglie
wavelength of 0.1 nm is -

(A) 331 x 102 kg m 5!
() 6.62 x 102 kg.m 5!
(€ 6.62 x 1022 kg.m.s™!
() 6.62 x 1023 kg.m.5!
For which of the following
of Kp is greater than K¢?
(A) N> + 0, = 2NO

(B) 280, + 0, = 250;

(C) 2NO, = N2Oy4

(D) PCls = PCl; + Cl,

oLG.Lvl

ions the value

OLG.V1

The correct order of metallic character of the
elements B, AL, Mg and K ﬁ

(A) B> Al>Mg>K :
(B) AL>Mg>B>K
(€©) Mg>At>K>B
B)K>Mg>AlL>B

14

The process in which metalpxide is reduced
: —
to metal is called -

()]
(A) Smelting

%

Equal weights of methane_gnd oxygen are

mixed in an empty contai@ at 25°C. The
fraction of total pressure e&stted by oxygen
-

(B) Aluminothermy
(C) Hydrothermy
(D) No specific name

SCIENCE (CBZ) CHEMISTRY ‘

46.

47,

48.

49,

50.

]
The pH of solution containing 0.4 gm NaQY
per litre 1s -

(A) 2.0%

(B) 12

(C) 100~

© 19

Whiﬁ the following is the most stable

radical™

(A) E:rk

®) R &4,
(@)]
©) R ZH

(D) %

Copper is extracted from -
(A) Cuprite

(B) Copper glance

(C) Malachite

(D) Co@zr pyrite

Nitrogﬂ is having three unpaired electrons,
accordgyy to -

(A) Hund’s rule

(B) A principle

(C) Heiszznberg’s principle

(D) None of these

3.5g of copper was dissolved in excess

concel‘[ﬁted Nitric acid and the solution was
evapoi@led to dryness. The copper nitrate so

et o) formedyywas ignited to its oxide which

) 1 weighed 4.4g. Then the equivalent mass of
3 ﬁ copp@gms IS -

(B)% (A) 15.
2 (B) 62.2

c -—

( )i b (©)31.1

ESE (D) 15,55
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1. The following reaction describes the rusting 56. How many o (Sigma) and m (P1) bonds are
plon: there in tetracyanoethylene  [C2(CN)i]
4Fe +30; — 4Fe’* + 607 molecule?

Which of the following state’?ﬁent is incorrect? (A) Fiveo and nine 7 bonds

(A) This is an example ofre@#( reaction. (B) Nr_&q o and nine T bonds

(B) Metallic iron is reduced Bf‘.l:e]'. (€) Si(:g'b and eight © bonds

(C) Fe** is an oxidising agent. (D) N{ff2 5 and seven 7 bonds

(D) Metallic iron is a rcduc[ﬁgcnt. 57. Isom ion in alkane may be brought about

52. The electronegativity of the following :)::] u;i?g

t(alf;ngen;s 1Snicr;ases in the order - (B) Fe;0
ey - (C) AIC); and HC
(B)N,Si,C,P ﬁ (D) Celve. H>SOy4
() Si,P,C,N (&) 58. The ikﬁi:f\{,-\(' name of following compound -
(D) P, Si, N, C o OHC H = CH = CH — CH = CH,

53. Addition of a molecule of obut - 1-ene CHy,— CHp = CHy— CHy
in the presence of peroxidi%s . is - Ei:i
(A) n - Butane (A) 4 - butyl - 2, 5 - hexadien - 1 - al
(B) 1 - Bromobutane (B) 5 - vinyloct-3-en- I - al
(C) 2 - Bromobutane 1 (C) s —_\:nyloct -5-en-8-al
(D) 1, 2 - Dibromobutane ﬁ 2 (D)3 ';%Ul}fl : l 4‘:.11‘3-“\‘3(1"'3‘1 g .8 p -11-

54. 25.2 ml of dilute sulphuric a& is completely s gehx\ dt_ltuan o ICL o tasl .a:, aroen

gas Y=ghich in turn diftuses thrice as fast as

neutralised by 24.0 ml of @105 M NaOH another gas Z. If molecular mass of the gas Z
solution. The mass of sul {c acid present i 14ﬁ]e molecular mass of gas X in ‘u’
per litre of the solution is - is .
(A) 0.49¢ (A) 8
(B) 4.9¢ (B) 16
(C) 49g I €2
2 o 60 (([)))4la f Hyd

; . One lite of rogen at NTP weighs 0.09¢.

55. The types of bond present 1n5§$04. SH0 are {000 anotger gis Wit weighﬁ (_}.0765;
oply - The v[gIBRr density and the relative molecular
(A) electrovalent and covalﬁ ass ﬁe gas are respectively -

(B) electrovalent and co-ordinate covalent (A) 4.25.85
(C) electrovalent, covalent and co-ordinate (B) 8.5,17.0
covalent : (€) 17.0, 34.0
(D) covalent and co-ordinate covalent (D) None of these
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61. What causes Loose Smut of wheat? 66. When we peel the skin of a potato tuber, We
(A) Ustilago kolleri = RO et i et conaniss
(B) Ustilago avenae ~J (A) peridgrm
(C) Ustilago hordei g: (B) epi&ElTniS
(D) Ustilago tritici i (C) cuttele

62. A fruit that develops ﬁ bicarpellary, (D) sapwood
Syncarpous, inferior ovary and bears pappus 67. Ethylﬁs used for -
ik (A) Retarding ripening of tomatoes
(A) Pome (B) Hastening of ripening of fruits
(B) Drupe E (C) Sloﬁz‘jng down ripening of apples
(C) Cypsela E,‘l.i (D) Ca%ng reversal  of dwarfism
(D) Caryopsis 5 gerfSfically dwarf plants

63. The glant ~ redwood e (Sequoia 68. The filamentous thread like fungal bodies are
sempervirens) is a/an - Eﬁ callef#ycelium. But in which of the
(A) Angiosperm following pseudomycelium is present?
(B) Free fern (A) Yeast
(C) Pteridophyte K (B) Mu‘_’ﬁr
(D) Gymnosperm ~J (C) Rh@lpus

64. The fusion of the second mal(enigamcte with the (D) Pu%#nia
secondary nucleus is called triple fusion and 69. In a dihybrid cross, if you get 9:3:3:1 ratio, it
the product is known as - ﬁ) denot L
(A) Seed (A) th&leles of tWo genes are interacting
(B) Embryo with each other
(C) Endosperm (B) itis a multigenic inheritance
(D) Cotyledons il (€) it isgcase of multiple allelism

65. When the body of the ovule #nverted in such (D) lhealeles of two genes are segregating
a way that it bends back aloﬁ_gside the funicle independently
and the micropyle lies closggy the hilum, the 70. Casparian bands are found in e
ovule is said to be - ﬁ ................... of roots of Zea mays.
(A) Orthotropous (A) E is
(B) Anatropous (B) Cortex
(C) Amphitropous (C) Endodermis
(D) Circinotropous L
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71. What according to Mendel was responsible

76. Algae are autotrophic and photosynthetic.

for the inheritance of specific traits? But which of the following is parasite algae?
(A) Genes o (A) Oedogenium

| ~ X
(B) Factors a (B) Ulva al

c g (C) Ulotheix
(C) Chromosomes o))
(D) DN (D) Cephz?guros

A
E—E 77. Identify %correot statement -

72. Secondary Growth in the stelar region is (A) In asexual reproduction, the offspring
initiated due to the activity of ............... produced are morphologically and__
(A) xylem genetically identical to the parents.

: it :
(B) phloem 3 (B) In aseﬁal reproductxo‘n. a smc..]e paref
~ produeeg offspring, with or without the
(C) cambium &) oS of
=% formafign of gametes.
{0 bundle sheath o : (€) Conid®® are asexual structures in

73. Which one is unrelated pair? EE Peniﬁm.

(A) Early Blight of Potato - Alternaria solani (D) Zoospores  are  sexual reproductive
structures.

(B) Late Blight of potato - Phytophthora ‘ ; .
78. Avena coleoptile test is for which of the

: infesl[gns ﬂoweringﬁ)mmne?
(C) Bacterial Blight of rice - Pcaliiery mildew (A) TAA E\In
= 5 (B) NAA =
(D) Stem Rust of wheat - Pucciffa graminis i (6))
_ AB
74. What is the first intermediate ﬁ product of D) G Aﬁﬁ
dark reaction in carboxylative phase? 79. The enzyme that is not found in a C; plant is -
(A) Phosphoenol pyruvate (A) RuBP carboxylase
(B) Phosphoglyceric acid (B) PEP carboxylase
(C) Phosphoglyceraldehyde L“‘ (€) NADPARed“C‘aSG
D o
(D) Pyruvic Acid a Pl odE Sa#thdse
S 4 i 80. Dark reacg,?n in photosynthesis is called so,
75. Funaria differs from Dryopterigin having - because -

(A) Independent gametophyte E (A) it car[&Eur in dark also.

B) .
(B) Dependent gametophyte (B) it does not depend on light energy.

(€) it cannot occur during day light.
(C) Independent sporophyte Sy : .

(D) it occurs more rapidly at night.
(D) Dependent sporophyte
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81. Kidney of man is -

(A) Opisthonephros
(B) Pronephros

(€) Mesonephros
(D) Metanephros

82. Hepato-pancreatic  duct opens into the
duodenum and carries -
(A) Bile

(B) Pancreatic juice

Lyl

(C) Both Bile and Pancreatic jufed
> w—
(D) Saliva (o)}

83. Which one of the following ﬁrt' animals

Lo
belong 10 a single taxonomic group?

(A) Cuttlefish, Jellyfish, silverfish. dogfish,
starfish

(B) Bat, pigeon, butterfly E
(€) Monkey, chimpanzee. man a
(D) Silkworm, tapeworm, eartham
84. Which of the following pairs iﬁng"
(A) Uricotelic - Birds ’
(B) Ureotelic - Insects
(€) Ammonotelic - Tadpole
(D) Ureotelic - Elephant s
85. The amount of air that moves in'a-hdd out of the

lungs, with each mspiration am&xpiration 1S
(0)}

called -
e

(A) Residual volume
(B) Vital capacity
(C) Tidal volume

IS T

(D) Tidal capacity

Al
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86. Which ofg# following 1s not a producer?

(A) Spiw@;‘a
(B) Agaricu
(C) Volvﬁ
(D) Nostoc
87. Glycolysis is the initial process of cellyja
respiration in which glucose is broken dowp
to the level of -
(A) Pyruv["_gécid

(B) AcelyEﬁoA
(C) Lacticid

(D) Citric acid
88. The seqﬁ of communities of Primary

plant succession in water (Hydrosere) is -

(A) Phytoplankton, sedges, free floating
hydrophvtes rooted hydrophytes, grasses
and lrc-i}

(B) Phyto;ﬂmklon free floating hydrophytes,

roolgdmdrophytes sedges, grasses and
trees

(C) Free ﬁating hydrophytes, sedges,
phytoplankton.
grasses and trees

(D) Phytoplankton rooted  submerged
hydrophytes floating hydrophytes, reed

SW'lm[{?n'lcdges meadow and trees

9. The outemost tough, dense and highly

vascular brane of the brain is called -
(A) Pia wﬁ

(B) Arachnoig layer
(©) Dura matey

rooted  hydrophytes,

(©) Grey matter
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90.

In normal adult blood pressure is expressed
as -

(A) 80/120 mm Hg
(B) 120/80 mm Hg
(C) 150/90 mm Hg
(P) 90/50 mm Hg

gLG.Lvl

R

96.
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Google Play

The deoxygenated blood is carried by
.. to the lungs.

(A) pulm@l‘y artery
(B) pulméiihry vein
(C) systeric artery

(D) carofidwgrtery
[denti wrong statement, which is not

91. Which among the following has 23 o
chromosomes? observed during meiosis?
(A) Spermatogonia (A) Pairing of homologous chromosomes '||
(B) Zygote (B) Four haploid cells ar'e f.(ered 2 =l
(€18 coiidury vooyis (C) At the end of meiosis the m{mber of
(D) Oogonia chmmoanmes‘are reducef:l to‘ half
= (D) Two eyeles of DNA replication occurs
92. The nitrogen base not prei%t in DNA 98. Crossing-eyer occurs between -
DY L_I'I\ (A) Non-,%lter chromatids of non-homologous
(A) Adenine o) chrofidome at Zygotene stage of
(B) Guanine Eﬁ pro‘ﬁ-l
(C) Uracil : (B) Non'Sister chromatids of homologous
(D) Cytosine chromosome at Pachytene stage of
93. Corpus luteum secretes a hormone proph§s¢-l .
T (C) Non-sister chromatids of non-homologous
M bralactin _-; chromesome at Pachytene stage of
<] proph&-l
(B) Progesterone &y (D) Non-$ifter chromatids of homologous
(C) Aldosterone 6; chrorE;ome at Zygotene stage of
(D) Testosterone proHl
94. Which type of cleavage is fouﬁ insects? 99. Reappedfante of certain ancestral characters,
(A) Discoidal ?vhich had ei.ther. disappeared or were reduced
in the offspring is known as -
(B) Holoblastic 2 (A) Homolggous
(C) Coeloblastula z (B) Atavi @
(D) Superficial )] (C) Vesti&Hl
95. Who proposed the Fluid Moa';; Model of (D) Anala@us
Plasma membrane? 100. Analogc gans arise due to -
(A) Camillo Golgi ﬁ (A) Div t evolution
(B) Schleiden and Schwann (B) Artificial selection
(C) Singer and Nicolson (C) Genetic drift |
(D) Robert Brown (D) Convergent evolution
\ Page 31 of 72 [SET-D]
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(B) qRIeTUE (e
(C) IREUGH:
(D) SrqRIETE
48. Wrugfer dgeaar HRAT IS TR ?
(A) g
(B) zﬁﬁ

(€) m&m

= . .
(D}‘j
49. i e e

B |
(A) fre:
(B) 3reiy:
(©) W&Eﬁiﬁ;
(D) ﬁuﬂ
0. a1 W/t “DOVO™ wrepenmara fa 2
Wi i
(B) 32y
(C) gy
(D) 2
51. TRy % ﬁlﬁ[?
(A) TRy
(B) wﬁﬂ
(C) T

(D) Syofaerse
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52. a1 NI RIETIRE o 58. wfdeeperd HRaw @A™ Haf ?
TR 7 (A) ST
(A) 2012 E (B) TIROTT E
(B) 2010 ?I"! (C) G-Ffd'lﬂef (j‘l
(C) 1980 a (D)HW—\
(D) 1985 59, TTorT — e =
53. HHTHaU i fquH? Fﬁ (A) ToTTH
(A) vg By <o
(B) f3 (©) o7
(C) = A
(D) 60. HeaTe Ffa fauw ?
54. WA XET BT AR ? = ® B 2
(A) "9eirgaRan E (B) =rqffer a
(B) ATCTe TR = © Rfem o
(C) TUgTerasH ﬁ (D) wefe
(D) B ' 61. SR PR TR TTRHTET o
55. @ HETARARTT oo, D | g |
i W
(€) 7RI IS S
~ Crvaq
(D) RrqoT: (@) o
=5y (D) argq =
6w R AL R B 62wmm-;rw%?
ol : : 121
(A) ERE= e S
(B) Mermiifer (B) M=
(C) FreTREITD - (S
(D) Hifirere ar (P} ey 3y
57. wgTe S — b 63. 539 (§) qefvafedaary -
() o A afr D
(B) g+ % ORI
(C) 7T (C) uf¥
(D) 4g1 (D) 3=
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o M s g 5 < 2 69. TR TR i
(A) Tar: (A) Introduction
— i
(B) e S (B) Activit}_l—':]
e
(C) A (C) Objecti¥Es
(D) 74 ) (D) Ccmtc:nFD
B =
65. Wepaufecr smerTcITR: PR 2 70. TUGARIRAE AE: B 7
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(C) w=y: (C) 2agw:
— —
(D : g (D) SET:
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66. e £ e ? @ 71. Formal Grﬁmar. (arfaereRom). ..........
(A) FHrgF) Hi’;% """"" |
hiF (A) W@m
(B) greraRey \
T e (B) wrefazeryom
‘ (C) apeffavciyury
(D) srofaaofa = i g
67. YUSRHIABICTR HA+ Wﬂ@ﬁ - g AR N
. i, ™ i = —
............... e | oy [ O)% It
(A) 73 ﬁ (A) By
(B) =iy
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68. Cognitive Aim — o — TRIfA R Dar H@ﬂﬁm
TR 2 O
A) SIS oledH -
il E (A) 2012 I:'FE
(B) {TaTcHD eTH
(B) 2015
HIITATHD HEIH
(€) ; (C) 2005
(D) TR T (D) 2019
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COMPULSORY FOR ALL STREAMS ‘ : |
I CHILD DEVELOPMENT, PEDAGOGY, SCHOOL MANAGEMENT AND EVALUATION

L_-_ T e
101. Total number of members in School
Management & Developmetﬁ_‘.nmmitlec are-
~J
(A) 15 (@)
ey
(B) 16 O

(D) 18

102. Who is more active in criticalpedagogy?
B

(A) Teacher

.(f'j/feamer

(C) Parents

alLG/

education of a

(D) Society

103. The school

quality
‘management mainly depends__Lipon -
(A) Infrastructural facilities .'Ei
%aching — learning app%gch

(C) Tutorial and attractive class

(D) Classroom and laborawﬁ

104. Which method of evaluation is effective for

both Curricular and — Co-{g:urricular

Ly

achievements?

(A) Formative

%mprche’nsive

(C) Diagnostic

wn
s
(0}
e

(D) Aptitude

OSSTET/P-I

Page6dof 2 MRy

105. Which method is more effective for
selfaasshsismcnl?
(A) ObSeétvation
—
(B)_,As@nmem
/ i
O o
(D) Rubrics
106. Pedagogy is a science of -
—
M eaphing
~l
(B) Leduhiing
—
(C) Acfihy
(D) A ing
107. Cognitive constructivism does not depend on-
(A) Experience of the child
(B) Environment of the child
(C) Co_r:l'&"épt of the child
{%q&f'itivencss of the child
108. Whicha the following is not coming under
the uses of observation in assessment?
(A) 1t Hu

relationship in case of shy and exceptional

\)}Mdren.
—
(BY It is%cd to study and record actual pupil’s

bcll&our in the natural eny rronment.

used to study interpersonal

(©) 1t ifWed in ascertaining the general trend
ol ppmion of a group.

(@) 1t "¢’ be utilised for the purpose ol
observation of a single individual pupil or

group of pupils.

|
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109. Which is not the principle of growth?
(A)/Growlh is gradual
(B) Growth 1s quantitative

(C) The rate of growth is not even

L%rowth follows a pattern

110. The basic purpose of school 11131@301110111‘ is to
help - (_ﬂ
(A) Teachers in improving method
(B) Teachers in understanding E_ﬁ
(C) Teachers in dealing pupil
Wiﬁldren learn more effectivﬂf

111. According to Piaget, the prc-op@iona[ stage
coincides with - ﬂ

(A) Pre-childhood stage D

%ly childhood stage ﬁ

(C) Late childhood stage

(D) Adolescence stage

112. Instinct of constructiveness is associated with

which type of emotion?

(A) Distress
\(yé:ling of creativeness

(C) Fear
(D) Negative self-feeling

Ml 91Sip)

113. If [.Q. of a person is 150 and Mental Age is
30, then what is the value of du'onologlcal

Age? %'lga
_ o W
(A) 10 % = ’ - b5
@10 %o, -
(©) 30 c i A
(D) 40
 OSSTET/P-I
B

GET ITON
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s aa”
1 ue 15

4. Which type of observation techs
(A) Objective

(B) Subjective
\(C)/fjiagnostic
(D) I"rcvcnj@e

115. Who of social

~J
wagn the propounder

conslnlcti\aﬁn?
W/\’mﬁ
(B) Jean Piaget
(C) Noam Chomsky
() KohlbeiE
116. Innate thecg was developed by -
ja/l\loanﬁ-iemskv
(B) Erikson
(C) Kohlberg
(D) Vygotsky
B 27
117 Maturalion_-%-
(A) Psycho&‘{'gical Process

(8))
ental Process
(€) Leam@mccss

}B{Biological Process
118. Which ol‘lhﬁfollowing is both qualitative and
quantitativi"}}l.
(A) Observgpn
(B) Exper@lmiou

(C) Study
(©)-Evaluation

|SET-D]
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matic act carried g

! Jtﬂ”- Which of the following 1s one of the fore 123. “A project 1s @ proble

most
3 ing.” - Who
requisite of a good administrator? completion in 115 patural setting said
(:/)/(’i'ml'ldcncc i?

f! (B) Power (A) Kilpatric

B) Stevdnson
dn
”S't(ﬂ

(D) Wealth

—~

H

~

(&)

—

&) n
@ (0) S g

120. Name the first psychologist Who defined the

124, Number.of Teachers to be nominated to SMC

(C) Chair

Mental Age -

- is - 1
(A) 1P. Guilford i BT
(B) L.L. Thurstone 8 (8) 02-6;
Magnc ﬁ m Oﬁ
(D) Alfred Binet ke (D) 04

121. Which of the following are only visual aids? 5 @25 Who was the propounder of multiple theory of

v

—

o ,=- 7
ard. [ 3 0

¢-board Tm,mg Projector
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27. Which is mot associated with intellectual essment,  the

132. By which method of ass

development? _
' fied?
(A) Memorization weakness of a learner can be identifl

i =%
(B) Concept formation ; ' Zﬁ (A) Continuous ﬁ
. o o
(C) Observation MEY (BY Diagnostic —
(®)) (@)

D) Socialisation

S
128. Which. method is different from ﬁﬁ)ther

three in assessment point of view?
(A) Field work

(B) Group work state?

(C) Summative

133. When did multilingual education start in our

(D) Formative

LSLvl

(€) Project work (A) 2005-2006 ¢5

VA 4"

D y
(DY'Classroom Demonstration (B) 2006-2007 CD

9

129. Which of the following is a demerit of

—_— (6¥2007-2008 FE

(D) 2008-2009

observation?

(A) More reliable

-
-

iB;/MXe searching 134, Developrﬁent progeeding in the direction of
—
: . b
(C)Time consuming Iﬁ longitudinal axis{dead to Foot) is called as -
(D) Very flexible "_J: - ﬂ
) halo-ca tendency of development
130. According  to  Thurstone’s approach \/Qe P uén % P
intelligence comprises how many ﬁ of (B) Proximodis ﬁndeney of development
g, . . "l
mental abilities? (C) Spiral tendency of development
A) 07 - : .
(A) 07 (D) None of the above
BY09 it b
©) 10 - _E‘l 135. Which is not rgled with the objectives of
N ._\
— motives?
i 12 d thcn wth :
131. Which principle is 0ot aseaciget AR (A) To energiz behaviour
* and development? ﬁ ;
: 3L (B) 10 stabilize the behaviour
(A) Principle of continuity
| Brinciple of contiguity : (C) To stimulate the behaviour
A (©) Principle of integration _ (D) To activate the behaviour
(D) Principle of segreg2” .
— : Page 67 of 72 [SET-D]
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136. What is the sequence ol preparing a project? 140. Social development during  adolescen,
(A) Choosing, ~ Planning,  Executing & include -
Evaluating (A) Fear and Shame
(B)Planning,  Choosing, _Executing & \(W/Adﬂt-like behaviour
Evaluating Itl (C) Reﬁpssness
W

o
_ nation
(C) Executing, Evaluatingg i Inﬁnatlo

i ic is the internal condition of
Planning e 141. Which_one 15 of

-

(D) Evaluating, Choosing, " Planning & learn i

Executing (A) Contiguity

. : B) Practice
137.In  which step dlfﬁc@ value and : ));r-l“-'s
el ot b N (C) Disgrimination
discriminating power of th&ltest items are y
—

determined? (D) En,g_g;ing behaviour
ined?

(@))
: 142. Whi e of motivation is related to reward?
A 2 -
\(yig out FE 3

(A) pXtrinsic
(B) Planning
(B) Intrinsic
(C) Preparing

e (C) Biodgical
(D) Organising fd ?@
' o (D) lntﬁal
138. In India, the school administeation should be - .
@2 43} ConcepPformation primarily relates to -
Q)}ﬁmcratic 1
Eﬁ (A) Cpamitive development

(B) Autocratic ati
) (B) Conative development

C) Bureaucratic
( (€) Psycho-motor development

(D) Idealistic - (D) Aﬂ_EEtive development

S
; sy are  directly oih Y -
139.In which test raw sco-a{_\ 144. Whlch(_if the following is related to leamer®

interpreted? (o)) handwifing?

(A) Standardised test ﬁ (A) F;ﬁ

B) fibjective test (8) Saciety

(C) Teacher- made test \(f:?ﬂirm}mcm

(D) Objective based test © Maturation

e g p— ')' e '_"_—\-___________.___ —_’_,_/
“OSSTET/P-I Page 68 of 7 (SETP)
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145. which 18 not a factor of democratic
management?
(A) Cooperation

(B) Coordination

73] 916/

(€) lnt_egration
\{[y(mposition
146. In which situation the learner constructs
his/her own knowledge?
 (A) Teacher-centred

\(%ncr-centrcd

(C) Learning -control

] 91G.vl

(D) Subject-control

147. Lecture-method is generally called as -

Ly

(A) Leamer-centrf;d

(B) Child-centred

on
e
(0))
fe

(C) Activity-centred

\(9/451011 ercentred

- OSSTET/P-I
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. _ ; ality compositie,
148. Progressive change 1N quality 3

and character is called -

—_—

(A) Grovidfy
N
(B) Peve, gpment

(©) Progjess

(D) All the above

149. Which one is not a tool of observation?

(A) Rating scale
—

o Y
(B) Check~list
an

"
\Q/A/chimment test
(D) Anﬁal record

150. Which one is the first phase of a leaning

sequence?
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